Puzzle 7838 - Friday, 20 September, 2013 - Difficulty 3

12 IR T 2 N B s a7 16 1
4 18|56 |3 1f2]9]7
éff::,:’:l’z’:ii ‘8’21113”1’% ’’’’’’’’’’’’’’’’ i i i ;f::jfffff;
7329 |84f[5|1]|6
i i i i i i i;{iii:’;i:i,fffff;} 1’1’111 ,’,’,’,’,’,’{’5’,11111
1967 |2|5[8|3]|4
1’2’:’3 HZTL fffff;‘ : i %é”"l”{éi:i ’7’,::1”1’1’1111 | i
3]6]8]2|9]7]4 5|1
RN L R R R R N R [
917|415 |1 [8}3 )62
1767::'1 ’6’,:::3”8’:111,ffff:;‘ ‘ 3‘1’2;:’3 ééii’ ffffff,} : i
215111416 3}9 |78
| S R K A R A
8|1 7f3)4]916}2]5,
******* | E L I 12777
6149111521783
o T T : : : : ’5’,:::::::
5|2 |3]8j7]6f1]4]9

Copyright (c) www.dailykillersudoku.com




